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MATH 314-Linear Algebra
Quiz 1
Dr. Janet Vassilev

(1) For the following system of equations, use back substitutio; to solve for
(risayma): ; :s_: ;O L . J I
Ty — 205+ T3 =28 i 7'{'I tQ(S) 7Q_L+
Lo — 23 =3 "'..:.b X;l :31.2::5'

.?33=2

(X,)Xz))g): (45,2

00120 121 2 1 0 3
(2) Consider A={0 1 0 3 0}),B=(010 3|],andC=1|01 2
00001 000090 000

(a) Which of the matrices are in row echelon form? B 'B Ca
(b) Which of the matrices are in reduced row echelon form? c

(¢) For each matrix not in reduced row echelon form, decide if you can per-
form one row operation to put it into reduced row echelon form. Indicate

the matrix and the row operation which would put it into reduced row
echelon form.
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(3) If A= (é —02 ;L) and B = (O 3 "?), determine A + B and 5A.
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(1) Let A= (
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) . Determine A?, A% and A" for n > 4.
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(2) Let A be any n x n matrix. Using properties of transposes, show that A+ AT
is symmetric.
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(3) Find the inverses of the following matrices A = (O 1 3) and B = {[}) g g [1) :
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(4) Given that A™! = ( ), find the solution to the system Ax ( 4 ) ;
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(1) Let A=

[Q‘ :"‘l
(e (= 1A1Q]= Jol-() = ~20

(2) Let A be any n x n matrix. If det(4) = £, what is det(A™")?

dot (A7) =Sp 5wl
| = I = A'ﬁ-*!) j
= et ):%ﬁ Aob- A7 = lot

2 2 4
(3) For the matrix A = (3 3 5) find adj(A), det(A) and A~L.
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